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Master of Arts [Economics] 1% Semester
1128

MICRO ECONOMICS-I
Paper-MAECO-101 (In all Mediums)

Time Allowed : Three Hours] - [Maximum Marks : 80
Note :— Attempt five questions in all, including Question No. 1 which
is compulsory. Choose one question each from other four
Units respectively. Each short answer type question carries
2 marks and long answer type question carries 15 marks each.

1.  Attempt any ten short answer questions in 25-30 words each :
(1) Define Static equilibrium.

(i1)) What is the Second order condition of Consumer's
Equilibrium ?

(ii1) What is an Indifference Map ?

(iv) Define General equilibrium.

(v) What is Veblen effect ?

(vi) Why do people gamble ?

(vii) Write a short note on Hidden Actions.

(viii) Write a note on Cash Subsidy in the light of Indian
Agriculture.

(ix) Define Price Effect.
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(x) Write a brief note on Consumer Surplus.

(xi) What do you mean by Network Externalities ?

(xii) Write a note on the Learning Curve.

(xiii) Write a note on Substitution Elasticity.

(xiv) Define Economies and Diseconomies of Scale.

(xv) What do you mean by Multiproduct Firm ? 10x2=20
| UNIT-I

What do you mean by Stable Equilibrium ? How do Walras
and Marshall Approaches achieve stability of equilibrium ?
5,55

How do the parents of the students make decisions while

sending their wards to join MA Economics in Universities or

Colleges ? Discuss it in the light of Mankiw's Principles..
85,5

UNIT-11

"An ordinary demand curve may or may not slope downwards
to the right but compensated demand curve always slopes

downwards to the right". Comment on it. 7.8

Derive the indifference curve by using the Revealed Preference

theory. IS
UNIT-11I

Write a detailed essay on Risk Return Trade off. 15

What is Asymmetric Information ? How it leads to the problems

of Moral hazard and market failure in the case of health insurance ?
5,85
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UNIT-1IV

Distinguish between returns to a variable factor and returns to
scale. Why a rational producer likes to operate in the second
stage of Law of returns to scale ? 5,10

Modern empirical studies have found that long run average cost
curve (LAC) is L-shaped. How would you explain it ? Does
it contradict the U-shaped long-run average cost curve of the

traditional cost theory ? 5,5,5
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AT - Yo g@ 1 & sfand @ @ wmie w3 e 9 g9

1

HY| gl AR S H JdE H ¥ UEH 99 A T @ |
Ydd g STR U9 & 2 3F & qu q¥ I g @
15 3% 2|

T3 10 T ST YA, YUE O 25-30 TRl H &L -

() R dgem =1 9t X

(ii) SUIFT & dqeq # gad w9 Rufd #7787

(iii) SeRAaT AFRE 1 8 7

(iv) §HE Hqdq 1 ufReitg Y |

(v) 999 (Veblen) y@ 1 & 7

(vi) @ Sifew = I8 8 7

(vii) fodt g2 framll R ok e Ae ford |

(viii) TR HW & gehrer H AHe giewst W T Ae fod |
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(ix) ¥ 991G HT GRAOT HX |

(x) SUHERT IAREY W T G e o

(xi) Yeaw aElT ¥ O ARy E

(xii) AT 7% R TE A ford |

(xiii)gfeImE a9 T Are ford |

(xiv) e F it AT AR spfagens @ gt w3 |
(xv) Aedlisae ®H ¥ 3T I Y & 7 10x2=20

-1
o g & smueRr o SR B 7 AaRd (Walras) 3R AEie
gitehio e 1 Reaxdr $§ < Fd g 7 5,55

FA s 91 fAvafawem o1 Ficl ¥ WU ST 7 ariaen

o & fore o gag Trar-foan Fofa $& o) € ? A9fFa (Mankiw)

& faeral @ Aot H ==t w7 55,5
eIl .

‘T HIERO /T 9% 318 AR AT I AL Q1 B AT ABT A

2 Al Faw AT 9F B AR AR AN DB a0 2 1

EF TR fEoul &Y | 7.8

yehe FOual Rgid 1 SHN T I 9% F1d B |

15

fRe-T11

sifeR Red @R §7 ) o gy Feg fod | 15

JEHHAT TARR 41 & 7 TRy §|  AEd # g8 Afad @dar

X TR fAwcAdT T FHETRN T BT B §AAT B 0
5,5.5
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-1V
T FRF T Red o1 Red ¢ &l & He7 3fq¥ T
HY | Th qehed IcqEH JAH B AXF Red d dAT B oqEl
WY I gREed FIAT F Ee FRar 8 7 5,10

YT IFHAS ATl q Tq e & oA T Fee A
T (T.UEY.) T AR T 8 | 3T T ATl D AT |
7§ TR G Rigid & -3HR art S §HE qh qeA drel
Fgd a9 T {JAETHE hRar & 7 55,5

(Jrreft nigeTe)

~ yAs 359 17 & st & & s o9 9T I8 UF yEs
9| =elt 99 gfset feg g9a &8 f&a yrs < 9T a9|
9 B 839 yAs ¥ 2 vixd 76 »3 dow €39 yms ©
15 ¥ig T51

S 10 Bw €39 YFs, I3 HIF 25-30 FEEt feg &9

(i) nfag Az®s § ufesTHs &S|

(i) =9 T A3®s T T Yudt AfEt & I 7

(iii) SeHia3T dam ot T ?

(iv) o AZ®s & ufgsis a3 |

(v) T35 (Veblen)lﬁﬂi’a"rﬁ'?
(vi) 3% y39r faf dae 75 ?
(vii) fedfoft Jeft fafanret o9 ffa Aftuz 3 fod |
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(viti) 7St St < et g e mEfEt B o A fistl

(ix) ¥& yg= & ufgsfaz 3|

(x) Yu3a9 AIUSH '3 B Hay &c fod|

(xi) 3eTIX TISNE I ITB o I T ?

(xii) BIf8ar =g 3 f¥a a2 fou

(xiii) yf3meus Svazr g9 fEa 3 fau|

(xiv) Fa® Tt nigafeerare »3 9-nigafeera=’ § ufgsriz

el
(xv) H&SIYSdE SIH 3 3T3T of 3 T ? 10x2=20
gfse-1

AfEg A3®s 3 303 &t 3@ J 7 THIN (Walras) »i3 HIRS

ferdtas A3®s ©f AfEesT fav’ yu3 a9e 75 ¢ 5,5.5

g gfomi § gateafiet At et feg wH. 2. fedaTHan &g

THET BT BET 3T B HI-UZT SRS fa=” BT T 7 Hafaw

(Mankiw) © fRoi3t & IHat &9 99T a9 | 55,5
, gfse-11

‘ff AUT9® HdT 99 AR UTH J6 <8 w8er 3 AT &dt ner

I UT vwired N1 X9 IRAT AR UTH Jof 2% wBTr I fEr

3 feust ad| 7.8
ydie YeJH et v femvs a9a BeHssT a9 foms &d |
15
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gfse-111
6. wHH Stegs Tu9 dw '3 fFa ferfzs 3y fag) 15
7. w3 AEadt ot 9 7 fAos ghi @ v e feo 33w usfantt
m3 HIdle 9 MASH3™ ¥t HRA® © 9 fa= gset I 7
9:9.5

gfse-1v
8. JIITE® 39 I8 focas ni2 faeas ¢ Aas fegag nisT AuRe
a9 | fex 39aH® §3uea I <& faeds © aés © e Uug
3 ufgu®s a9a" faf ure ager I ? 5,10
9. nUfex nigsRHBR Miftist 3 UsT BT J fa &iar 35 WAz
A AT (W, T. HL.) WS niarg T I IAT fenet oo
&2 34 ? o feg uSuma= &= AU € g-Ma9 T8 BH
AN 39 9% I% WA ¥918 99 A3 v fedu ager & ?
5,5,9

2656/EPY-12388(T) 7 3000



